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v

If a body is projected upwards an inclined | $siwe el ) ez 8 3]
plane with a certain velocity and in a - Las by dims sy Bl
st'ra1ght line .If the algebral'c measure of the A gt Al s 5
displacement is determine in meter by the | .
relation : s =20 + 8t — t%such that (t) | ° *bd At Y e = o A G
is measured in second, then the maximum | 2 0B 4L dulde (0) S
distance it will reach equals ..... meter BT NRT-E | VRV | Y VTR

@ 36 ® 20 v @ ()
© 8 @ 4 ¢ (3 A B
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v

If v(t) = %cos (%), s(m?) =1, (%) L % = (0) & <38 1)
then s(t)=............. V= (") o <Oy
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v

A small metal sphere of mass 0.2 kg is ©o VS B s douasd S U,
moving in a straight line under the action IO LCHR e L & V""{
of a single force (F) newton .at time Laslll Kie 590 (19) S b3
t sec. , the displacement s is given by &l ek 5Ty A5 3 Al
s = (3sin 2t ) meter. ch(d\'b-\’):dbb}’\w
Find the magnitude of F when t = % % =0 bk 49 slas dsl
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h'd

If a bullet of mass 1 kg. is fired with v’s VS ks call )
velocity 720 km/h towards a tank of mass | \gkS™ &bs g2s uﬂ/i.f Ao
50 ton moving towards 1t with velocity e sl s s G -
20 m/sec, then the magnitude of the el g g

momentum of the bullet relative to the tank | 48138 ,> 48 Jlade Jb &/ v
equals ........ kg.m/sec S/p gpS e 9\l LAY Al

@ 200 ® 220 ve @ v @
@ 107 @ 1.1X107 | Yye Xy, @ Vi @
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A4

If a body moves in a straight line with (rritens das 3 o 3,55 13
uniform velocity under the action of two : 533 56 o deitte de
forces e aa
fi = 2ai - 3] + 4k, "B T
. A AT B\ ARE
fo =61+ b] —ck , then G AR = =
a+b+C: ................. =J+U+Pub
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v

If a body of mass 70 kg. is placed on S V’5 Ve alS o aiy 13)
a pressure scale fixed in the floor of a dnae dd )| S g 25 Jans ) e

lift moving with a uniform acceleration Y T Tros e

. NTE \,¢ dedatie Ao 8 >
1.4 m/sec? upwards , then the reading of 5 =/t AN
the scale equals ........... kg.wt. g”"/ S 59l Ol B3 018

@ 60 b 70 @ O
© 80 @ 784 va,e () A B
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v

Abody of mass 4 kg is placed on a smooth | S5 & ¥ 925 v’g £ ads e
inclined plane inclined to the horizontal Ll & 513 B o oy el BLs
with an angle of measure 30°, A force of )
magnitude 29.6 newton acts on it in the , :
direction of the plane upwards. Find the ) g gl ol 8
magnitude of the velocity of the body after | ;0\ V an V_.;J\ &6 yur ks o g]
7sec from the beginning of the motion .If | 5.1 3k (al 135 & 500 &1,
the act of the force is stopped at the end of | . RN AR g
this time interval, find thIe)pdistance covered Bl donslo ol 580 ol Bl
by the body on the plane after that before it | ** Sl S r’.“ St S
reverse the direction of its motion. S o olod) a0l 5 I3

RV LU AVSTRVIS S PUPICI e &
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h il

A rough inclined plane of length 250 ¢m o Vo sk pis Bl g

and height 150 ¢cm, If a body is placed P e e iy () 0 aclily
on it at rest to slide downwards the plane Jad JI = FB6 O S Dl
when the acceleration of motion equals Sl 38,2l Alome 5155 (6 gl

196 cm/sec?, find the coefficient of the | Y Jolae domsl "o/ V11
kinetic friction ,then find the velocity of the | ;i ua el A5 e 5] ~ (S

body after covering 200 cm on the plane. 8 gl s - Voo é‘—”
9
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hod

If'a force of magnitude 20 newton acts POITRA PRVSIRGAS U]

on a body at rest of mass 2 kg. for 5 sec 0 3ud) V’S vads S o
. ,then the velocity of the body at the end of | ;, A\ b el e O Ol 55
this time interval equals ......... m/sec. 5 /fﬁ @u 'y };\ 5

@ 10 ® 40 ¢ © v @
© 50 @ 100 e ) e B
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Answer one of the following items :
(a) A body of mass 210 gm and a spring

scale 35 gm are connected by the end
of a string passing over a smooth pulley.
A body of mass 105 gm is hanged on
the spring scale. If the system is let to
move from rest, find in kg. wt. The
tension in the string and the reading of
the scale.

(b) A body of mass 600 gm . is placed

on a smooth horizontal table and is
connected by a string whose other end
is connected by a pan of mass 100 gm
. and a mass of magnitude 50 gm is
placed on the pan .If the string passes
over a smooth pulley at the edge of the
table, find each of the pressure on the
axis of the pulley and the pressure on
the pan in gm. wt.

o oo o

(Al W1 200 (S Lo — Zolalf 2 g3l Al yubd AL Balgd (slowiial
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A ball of mass 100 gm is moving on a L BRI AR S 5,8
straight line with velocity 3 m/sec to 5,8 S /VV B s

collide with another ball at rest of mass o - Voo lelS LS
200 gm .If the first ball rests directly after o .

) 9&5 LYo Lad) |
collision ,then the velocity of the second v T e A I

ball directly after collision eobadl day A3 5 s
equals ........ m/sec. &/ g e =55l

@ 1 ® 15 e Q@ O
© 2 @ 25 v,o S
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A rubber ball of mass 20 gm . fell down o= S bl 10 5,8 lade,
from a height of 6.4 m?ter above the 23 Ch“ oo e 8 gl e
ground to rebound vertically upwards. If the

average force which the ground exerts on .
the ball is 182 x 10* dynes and the contact | &5V s 23 Wis A1 558l

Laugze 98 136 ¢ MY Ly )

‘Fin(l)eoc;f ;}enz ball with the ground S5 ye) o8 s Eye X OAAY
inde s 251 o oY 298,80
(i) The magnitude of the impulse of the 3,50 2! g2 e (i)

ground to the ball. 5,1 adl oy gyl a3l (i)

(11) The maximum height the ball reaches

) Aaalasy) s
after it rebounds. e Plee

14
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A

A variable force F (measured in dyne) acts | dwlis) 19 byiue 355 il 13)

on a particle such that o e S (L
F = 4s3 — 25+ 1, then the work done by | sl gy + G v-"Gg =49
this force in the interval from s=0 cm to oo byl B8 sl ol e J gl
s=3 cm equals ....... erg R

15
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D\ id

If a body of mass 200 gmM. moves with A48y =z alks’ (- dy 130
velocity v = 601 —80j such that ! and R =) T
J are two perpendicular unit vectors and G ias Ohaelaze B s (g

the magnitude of the velocity is measured . L e )
in cm/sec. , then the kinetic energy of this o7 B OB & By e
body equals .......... joule. Jg e S5l pdl 1o

@ 01 ® 02 O O
© 04 @ 10° W O : ®
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b

If the power of an engine at any time t Ll O (poy 8 e T8 )8 =0lS 13
measured in seconds equals By 5om (04 T0R) g 5Ls AL

(9t? + 4t) energy unit, then the work done et ) &
by this engine during the 3 second S A e ol Ja O
equals ...... work unit. - Jad Basg e (6 gl AIWN A5

® » ® * 4@ O
© ¢ @ TN RNEMNC
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A force acts on a body at rest of mass S - PTG |
50 kg. to acquire it a uniform acceleration | A== Sl v>5 o S
0.7 m/sec? . If the work done by this force Jadll o5 13 rd’/(' ,V delate

is equal to 350 kg.wt.m., Sl 3581 oda daul g Jgddll

_ \ e V’S & Yo
find the distance which the body moves. . V“?J‘ 6555 1 Bl o

18
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A Zeppelin moves under the action of Aoglie L6 cos slae dyew
resistance proportional with the square el 36 e e g el
of the velocity of the Zeppelin .If the e V’S A ol agliall

resistance equals 800 kg.wt. when its
velocity equals 20 km/h and the power
of the Zeppelin was 200 horses when it

<olSy /Vf Vo owe,w oo
Leais Ol oo slaidl 3,08

moves with its maximum velocity , o g6 A ey bl 5oy
find this velocity in km/h. o/ SS 8- g3 Ayl
19
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Answer one of the following items : 1 SO 00 jB0Y S| S
. L
(a) A body of mass 200 gm. 1s let to move Oﬁﬁﬁﬁ_ Yool s 850
from rest from the top of a smooth plane S S
of length 25 m inclined to the horizontal | . .
Qj\){uuﬁ\é&&ﬁj\jﬁ\'o

. ¢ I\Y :
at an angle of sine " Find the velocity

of this body when it reached the base of | . ol J\;“’ﬂ )
the plane. sl 38 Ll o
(b) A man of mass 72 kg. ascends an elo V’S VY S oy 8,5 -0

inclined road inclined to the horizontal
: .1 > do o) AN oo
with an angle of sine ¢ to cover 120m | szl %?‘m” S bl b

find the change in the potential energy | ="' A NV phatd % el
of the man. .J:.-)\c'@ééﬁo&;ﬂ\

20
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